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2 modules FADC data-taking
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2 modules FADC data-taking
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2 modules FADC data-taking - 2days(0804), at center
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2 modules FADC data-taking - 2days(0804), at center

Fit with a Gaussian

<dt_top>
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2 modules FADC data-taking - 2days(0804), at center

Fit with two Gaussians

m = 15.61 m = -0.238
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2 modules FADC data-taking - 2days(0804), at center

<2d histogram>
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2 modules FADC data-taking - 4days(0808), at x=40 from ch2

m = 21.75 m = 6.208
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2 modules FADC data-taking - 4days(0808), at x=40 from ch2

<2d histogram>
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2 modules FADC data-taking - [at center] vs [at x=40 from ch2]

<dt_bottom>
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2 modules FADC data-taking - [at center] vs [at x=40 from ch2]

<dt_top>

m = -0.238 m = 6.208
o = 0.2283 o = 0.2318
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PMT gain test

labeled IBS 001~IBS 014
IBS 001 on test

investigating [single rate], [threshold], [gain] for each HV

[single rate]
trigger threshold = -25.5mV

maybe because of
inaccurate time counting?
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PMT gain test

[threshold], [gain]

-1*q
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PMT gain test

[threshold], [gain]

at HV=1800V
peak height histogram

-1*peak
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A case design
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To do list

1. Find dt of FADC data with Gaussain fit
2. Accurate PMT gain test

3. (after a case sample available) test with the sample



